Formulas TFY4345

Validity of formulas and meaning of symbols are assumed to be known.

Hamilton’s equations:
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Lagrange’s equations:
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Poisson brackets:
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Four vector:
x, = (r,ict)

Four potential:
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Electromagnetic field:
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Lorentz transformation (with relative velocity v = vz):
Lyp=1Lsz=1, Linw=Lyu=~ , Liu=—Ly =10y

f=vle , v=1/\/1—=2v%/c?

Lorentz transformation of electromagnetic field (where the inertial system Sy moves with ve-
locity v@ with respect to S):

E:v = EO;t 5 Ey - V(EOy + UBOz) 5 Ez = V(EOz - UBOy)
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Trigonometric relations:

cos(a+b) = cosacosbFsinasinb

sin(a£b) = sinacosb=+ cosasinb



